

7610

$$1. \int e^{ax} \cos bx \, dx = \frac{e^{ax}}{a^2 + b^2} (a \cos bx + b \sin bx) + C$$

(C: 積分定数) ( $a^2 + b^2 \neq 0$ )  
(証明略)

Ex.

$$\int e^{-3x} \cos^2 x \, dx$$

$$= \int e^{-3x} \frac{1 + \cos 2x}{2} \, dx$$

$$= -\frac{e^{-3x}}{6} + \frac{e^{-3x}}{26} (-3 \cos 2x + 2 \sin 2x) + C$$

$$= e^{-3x} \left( \frac{\sin 2x}{13} - \frac{3}{16} \cos 2x - \frac{1}{6} \right) + C$$

4.

$$\int x \tan^{-1} x \, dx$$

$$= \frac{x^2}{2} \tan^{-1} x - \frac{1}{2} \int \frac{x^2}{1+x^2} \, dx$$

$$= \frac{x^2}{2} \tan^{-1} x - \frac{1}{2} \int \left( 1 - \frac{1}{1+x^2} \right) \, dx$$

$$= \frac{x^2}{2} \tan^{-1} x - \frac{1}{2} x + \frac{1}{2} \tan^{-1} x + C$$

$$= \frac{x^2 + 1}{2} \tan^{-1} x - \frac{x}{2} + C$$

5.

$$\int \tan^3 x \, dx$$

$$= \int \frac{\cos^2 x - 1}{\cos^2 x} \sin x \, dx$$

$$= \int \left( \frac{1}{\cos x} - \frac{1}{\cos^3 x} \right) \frac{d \cos x}{dx} \, dx$$

$$= \log |\cos x| + \frac{1}{2} \tan^2 x + C$$

8.

$$\int \frac{dx}{x + \sqrt{x^2 - 1}}$$

$$= \int (x - \sqrt{x^2 - 1}) \, dx$$

$$= \frac{x^2}{2} - \frac{1}{2} (x \sqrt{x^2 - 1} - \log |x + \sqrt{x^2 - 1}|) + C$$

$$= \frac{1}{2} (x^2 - x \sqrt{x^2 - 1} + \log |x + \sqrt{x^2 - 1}|) + C$$

9.

$$\int x \sin^{-1} x \, dx$$

$$= \frac{x^2}{2} \sin^{-1} x - \frac{1}{2} \int \frac{x^2}{\sqrt{1-x^2}} \, dx$$

$$= \frac{x^2}{2} \sin^{-1} x - \frac{1}{2} \int \left( \frac{1}{\sqrt{1-x^2}} - \sqrt{1-x^2} \right) \, dx$$

$$\therefore \int \frac{1}{\sqrt{1-x^2}} \, dx = \sin^{-1} x$$

$$I = \int \left( \frac{1}{\cos \theta} - \cos \theta \right) \cos \theta \, d\theta$$

$$= \int (1 - \cos^2 \theta) \, d\theta$$

$$= \int \frac{1 - \cos 2\theta}{2} \, d\theta$$

$$= \frac{\theta}{2} - \frac{\sin 2\theta}{4} + C$$

$$\therefore \int \frac{1}{\sqrt{1-x^2}} \, dx = \sin^{-1} x$$

$$\sin 2\theta = 2 \sin \theta \cos \theta = 2x \sqrt{1-x^2}$$

$$\therefore I = \frac{1}{2} \sin^{-1} x - \frac{x}{2} \sqrt{1-x^2} + C$$

$$\therefore \int x \sin^{-1} x \, dx = \frac{x^2}{2} \sin^{-1} x - \frac{1}{4} \sin^{-1} x + \frac{x}{4} \sqrt{1-x^2} + C$$

10.  $\sin x = t$  ( $-1 < t < 0, 0 < t < 1$ )

$$x \neq \pi, \cos x \, dx = dt$$

$$\int \frac{\cos^3 x}{\sin x} \, dx = \int \frac{(1 - \sin^2 x) \cos x}{\sin x} \, dx$$

$$= \int \frac{1-t^2}{t} \, dt$$

$$= \int \left( \frac{1}{t} - t \right) \, dt$$

$$= \log |t| - \frac{1}{2} t^2 + C$$

$$= \log |\sin x| - \frac{1}{2} \sin^2 x + C$$

7) ①

$$1. \frac{1}{x^2(x-1)^2} = \frac{2}{x} + \frac{1}{x^2} - \frac{2}{x-1} + \frac{1}{(x-1)^2}$$

$$\int \frac{dx}{x^2(x-1)^2} = 2 \log|x| - \frac{1}{x} - 2 \log|x-1| - \frac{1}{x-1} + C \quad (C: \text{積分定数})$$

$$= 2 \log \left| \frac{x}{x-1} \right| - \frac{2x-1}{x(x-1)} + C$$

$$2. \int \frac{x^3}{(x^2+1)^2} dx = \frac{1}{2} \int \frac{t-1}{t^2} dt$$

$$x^2+1 = t \quad x dx = \frac{1}{2} dt$$

$$2x dx = dt$$

$$= \frac{1}{2} \left( \log t + \frac{1}{t} \right) + C$$

$$= \frac{1}{2} \left( \log(x^2+1) + \frac{1}{x^2+1} \right) + C$$

$$7. \int \frac{dx}{\sqrt{x+3}\sqrt{x}} = \int \frac{6t^5}{t^3+t^2} dt$$

$$t = \sqrt{x+3} \quad x = t^2 - 3$$

$$dx = 2t dt$$

$$= 6 \int (t^2 - t + 1 - \frac{1}{t+1}) dt$$

$$= 6 \left( \frac{t^3}{3} - \frac{t^2}{2} + t - \log|t+1| \right) + C$$

$$= 2\sqrt{x} - 3^3\sqrt{x} + 6^6\sqrt{x} - 6 \log|6\sqrt{x}+1| + C$$

$$8. \int \frac{dx}{(1-x)\sqrt{1+x}} = \int \frac{2}{2-x^2} dt$$

$$t = \sqrt{1+x} \quad x = t^2 - 1$$

$$2t dt = dx$$

$$= -\frac{1}{\sqrt{2}} \log \left| \frac{\sqrt{1+x} - \sqrt{2}}{\sqrt{1+x} + \sqrt{2}} \right| + C$$

$$9. \int \frac{dx}{\sqrt{(2-x)(3-x)}} = \int \frac{2}{2t-5} dt$$

$$t-x = \sqrt{(2-x)(3-x)} \quad x = 2 \log|2t-5| + \frac{1}{2} + C$$

$$= \log|2(x + \sqrt{(2-x)(3-x)}) - 5| + C$$

7) ②

$$2. \int_0^1 \frac{\log(1+x)}{1+x^2} dx = \int_0^{\frac{\pi}{4}} \frac{\log(1+\tan\theta)}{1+\tan^2\theta} \sec^2\theta d\theta$$

$$x = \tan\theta \quad dx = \sec^2\theta d\theta$$

$$x|_0 \rightarrow 1 \quad \theta|_0 \rightarrow \frac{\pi}{4}$$

$$= \int_0^{\frac{\pi}{4}} \log(\sin\theta + \cos\theta) d\theta$$

$$= \int_0^{\frac{\pi}{4}} \log(\sqrt{2}\cos(\frac{\pi}{4}-\theta)) d\theta$$

$$= \int_0^{\frac{\pi}{4}} \log(\sqrt{2}) d\theta + \int_0^{\frac{\pi}{4}} \log(\cos(\frac{\pi}{4}-\theta)) d\theta$$

$$= \frac{\pi}{4} \log \sqrt{2} + \int_0^{\frac{\pi}{4}} \log \cos t dt - \int_0^{\frac{\pi}{4}} \log \cos t dt$$

$$= \frac{\pi}{8} \log 2$$

$$5. \int_0^{\pi} \frac{x \sin x}{1+\cos^2 x} dx = \int_0^{\pi} \frac{(\pi-x) \sin(\pi-x)}{1+\cos^2(\pi-x)} dx$$

$$= \int_0^{\pi} \frac{(\pi-x) \sin x}{1+\cos^2 x} dx$$

$$= \frac{\pi^2}{2} \int_0^{\pi} \frac{\sin x}{1+\cos^2 x} dx$$

$$= \frac{\pi}{2} \int_0^{\pi} \frac{-1}{1+t^2} dt$$

$$x|_0 \rightarrow \pi \quad t|_1 \rightarrow -1$$

$$= -\frac{\pi}{2} \left[ \frac{1}{2} \log \left| \frac{1+t}{1-t} \right| \right]_1^{-1} = \frac{\pi^2}{4}$$

$$6. \int_1^2 x \log^2 x dx = \left[ \frac{x^2}{2} \log^2 x \right]_1^2 - \int_1^2 x \log x dx$$

$$= 2 \log^2 2 - \int_1^2 x \log x dx$$

$$= \left[ \frac{1}{2} x^2 \log x \right]_1^2 - \int_1^2 \frac{1}{2} x dx$$

$$= 2 \log 2 - \frac{1}{2} \left[ \frac{1}{2} x^2 \right]_1^2 = 2 \log 2 - 2 \log 2 + \frac{3}{4}$$

$$= 2 \log 2 - \frac{3}{4}$$

8. (1)  $(S_1^1) = \lim_{n \rightarrow \infty} \frac{1}{n} \sum_{k=0}^{n-1} \frac{1}{\sqrt{1 - (\frac{k}{n})^2}}$

$$= \int_0^1 \frac{dx}{\sqrt{1-x^2}}$$

$$= \int_0^{\frac{\pi}{2}} \frac{\cos \theta}{\sqrt{1-\sin^2 \theta}} d\theta = \frac{\pi}{2}$$

(2)  $(S_2^1) = \lim_{n \rightarrow \infty} \frac{1}{n} \sum_{k=1}^n \frac{k}{\sqrt{k}}$

$$= \int_0^1 \sqrt{x} dx = \frac{2}{3}$$

10.  $y = \left\{ \prod_{k=1}^n \left( 1 + \left( \frac{k}{n} \right)^2 \right) \right\}^{\frac{1}{n}}$  求极限, 两边取对数

$$\ln y = \ln \left\{ \prod_{k=1}^n \left( 1 + \left( \frac{k}{n} \right)^2 \right) \right\}^{\frac{1}{n}}$$

$$= \frac{1}{n} \sum_{k=1}^n \ln \left( 1 + \left( \frac{k}{n} \right)^2 \right)$$

$$\lim_{n \rightarrow \infty} \ln y = \lim_{n \rightarrow \infty} \frac{1}{n} \sum_{k=1}^n \ln \left( 1 + \left( \frac{k}{n} \right)^2 \right)$$

$$= \int_0^1 \ln(1+x^2) dx$$

$$= [x \ln(1+x^2)]_0^1 - \int_0^1 x \cdot \frac{2x}{1+x^2} dx$$

$$= \ln 2 - 2 \int_0^1 \left( 1 - \frac{1}{1+x^2} \right) dx$$

$$= \ln 2 - [2x - 2 \tan^{-1} x]_0^1$$

$$= \ln 2 - 2 + \frac{\pi}{2}$$

i.e.  $(S_1^1) = 2x \ln 2 - 2 + \frac{\pi}{2} = 2e^{\frac{\pi}{2}-2}$

9. (1)

$$6. x^{\frac{2}{3}} + y^{\frac{2}{3}} = a^{\frac{2}{3}}$$

$$\text{E.g. } y^2 = a^2 - 3a^{\frac{4}{3}} x^{\frac{2}{3}} + 3a^{\frac{2}{3}} x^{\frac{4}{3}} - x^2$$

$$V = \pi \int_0^a y^2 dx$$

$$= \pi \left[ a^2 x - \frac{9}{5} a^{\frac{4}{3}} x^{\frac{5}{3}} + \frac{9}{7} a^{\frac{2}{3}} x^{\frac{7}{3}} - \frac{x^3}{3} \right]_0^a$$

$$= \frac{16a^3}{105} \pi$$

7.  $\frac{x^2}{a^2} + \frac{y^2}{b^2} = 1$  ( $a > 0, b > 0$ ) E.g.

$$y^2 = b^2 - \frac{b^2}{a^2} x^2, \quad x^2 = a^2 - \frac{a^2}{b^2} y^2$$

$$\frac{V_1}{2} = \pi \int_0^a y^2 dx = \pi \left[ b^2 x - \frac{b^2}{3a^2} x^3 \right]_0^a$$

$$= \frac{2}{3} \pi a b^2$$

$$\frac{V_2}{2} = \pi \int_0^b x^2 dy = \pi \left[ a^2 y - \frac{a^2}{x^2} y^3 \right]_0^b$$

$$= \frac{2}{3} \pi a^2 b$$

$$\therefore V_1 : V_2 = b : a$$

8.  $y = \log(\sin x)$  ( $\frac{\pi}{3} \leq x \leq \frac{\pi}{2}$ )

$$l = \int_{\frac{\pi}{3}}^{\frac{\pi}{2}} \sqrt{1 + \left( \frac{dy}{dx} \right)^2} dx$$

$$= \int_{\frac{\pi}{3}}^{\frac{\pi}{2}} \frac{dt}{\sin t} = \left[ \log \left| \tan \frac{t}{2} \right| \right]_{\frac{\pi}{3}}^{\frac{\pi}{2}} = -\log \frac{1}{3}$$

$$= \frac{1}{2} \log 3$$